CBSE Class 12 Biology Compartment Question Paper 2020 (September 22, Set 3- 57/C/3)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises five sections —A, B, C, D and E.

(11)  There are 27 questions in the question paper. All questions are compulsory.

(111) Section A — Question nos. 1 to 5 are multiple choice questions, carrying
1 mark each.

(iv) Section B — Question nos. 6 to 12 are short-answer questions type-I,
carrying 2 marks each.

(V) Section C — Question nos. 13 to 21 are short-answer questions type-11,
carrying 3 marks each.

(vi) Section D — Question nos. 22 to 24 are short-answer questions type-I111,
carrying 3 marks each.

(vit) Section E — Question nos. 25 to 27 are long-answer questions, carrying
5 marks each.

(viit) Answers should be brief and to the point.

(ix)  There is no overall choice in the question paper. However, an internal
choice has been provided in two questions of 1 mark, one question of
2 marks, two questions of 3 marks and three questions of 5 marks. Only
one of the choices in such questions have to be attempted.

(x) The diagrams drawn should be neat, proportionate and properly labelled,
wherever necessary.

(x1) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

1. In the illustration given below of a sitmplified food web on an i1sland, the
arrows indicate the direction of energy flow and the Roman numbers
indicate species within the food web.
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Teis VIII fopd 9t Tt 31206 U 9 k1 il & 2 1
(A) gt qen el Iudin
(B)  9TfHeh IUNIHT

(C) 3cUlgsh
(D) ¥k QAT =Y ITHITHI

2. Tafafga ¥ 9 -9 wifsas 787 2 2 1
(A) Sall

(B) YAC

(C) BAC

(D) pBR322

SOC|

Ty (Fa&a—) AAd Tasdr (frgper) =i ffsha gien Jem dn 8 =i
390 T4 iaiefl 8idm 2 1
(A) IgA

(B) IgM

(C) IgE

(D) - IgG

3. OHa &= § Hu=H $l [GRee W« 3 1

(A) " SHSIH
(B) TR

(C)  gieemt (Trge)
(D) qferehT SEdeh i

AT
q&ST § Ugle BIAM o GYeYY U9 GaUl i (HIH hid Tt 819 ol 919 3 1
(A) ST, (GH)

(B) U%.tg.vd. (FSH)

(C) Ud.UH. (LH)

(D)  Yreifded

4.  SI-TI=Eh T H ITANT hl S Tt 3Tk el a 1
(A) TwilSHS

(B) Ifdey USITSH

(C) HdEH

(D) Tormr Heet
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At which trophic level or levels does the species VIII function ? 1

(A) 2nd gnd 34 consumer

(B) 15! consumer

(C) Producer
(D) 3rd gnd 4th consumer

Which of the following is not a plasmid ? 1
(A) Sall
(B)  YAC
(C) BAC
(D) pBR322
OR
Colostrum provides passive immunity to human infants as it contains
antibody 1
(A) IgA
(B) IgM
(C) Igk
(D)  IgG
The specific site for fertilisation in human female is 1
(A) © Infundibulum
(B) Uterus

(C) Ampulla
(D) Ampullary isthmic junction

OR
The hormone that regulates the synthesis and secretion of androgens in
human males is 1
(A) GH
(B) FSH
(C) LH
(D)  Prolactin
In biotechnology experiments, ‘molecular scissors’ used are 1

(A) Plasmid
(B)  Restriction enzymes
(C) Vectors

(D)  Sigma factor
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5.  ‘Shlg S Sl ShIeATh TaW h1 HhIUl hid &, d SHH UMY BId 2 : 1
(A)  UTH TMicieh hiH
B) HIFH (Fwerey)
(C) HhI Bash

(D) &g gRAIeIEd

s 9

6. qUS YA (WAREI) H HAAUSHA HIEGH 1 1 AU & ? 3H AT
GHTYTE o Teh dileh ol Iccig ohifold | 2

7.  HSA 4 WYl H qUl guTiadr hl AR hl AT T&1 hl | YU GHTIe
G Tl I59 o1 Teh QT80T GITWTT |

Ted o 30 99 1 W foT@st 3T 3g@ hitll, fSTHehT AT 98 S _shid

& STl 37Ul JTierdT TSI Hid & | 2
AT

3ATTeh ATk 9 3TTYehl HeX 1 Ueh TR YT AT GAT 379kl I8 1A HH

foTC gl fob AT THYHSH YT TATHHST kel 0iem g | fqu 77U 39 qrg &1
ST 9%9 T St &8 379 13U hl ? 2

8.  CIL.UA.N. TSgehl shl YdIdl Sd §Y Tsh HIAE 3h1s hl Ush FIEYTcHh NG
SIS AU 9% fod@d 9, ¢Fcie o9 a9l ZiH-HeX (WHIUeh) ol HATHTIhd

hITSTT | 2
9. %S U s THEH Sd (TV]) T=SU & HIed H HHA IR H Yidse gl 39

Ut &A1 &d @

34 T o Th

(1) WIS SAEd W T A8 fo@ent TTehieh Siig a1 axTiHeh 9™ fdfgy |

(i) Uh FAMY (FH) 1 w1 a0 for@e WehRs S &1 IS AW
il 2

10.  OFET o1 2 ? YUl 9TGUl o W HehiUl H 3Heh] HEdl (Haw) ol 3g@ hitaT | 2
11. (a) dTgd Hoaoid o (gdiFe IY9R @ Ugd a7 39U-d «1.3A1.€. (BOD)
T H I k1 Iol@ Oﬁ'r\ﬂﬁl

(b)  dTfEd HA o Tgdi¥eh IUER b CH Hieh (FATH ) ohl U fARaU | 2

12. rSl.UA.U, JENfehl ST H SL.UA.U, W bl R-I (EcoRI) hl Tsham shi samen
HITSTT | 2
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o. ‘Cry genes’ that code for insecticidal toxins are present in 1
(A)  Cotton bollworms
(B) Nematodes
(C)  Corn borer

(D)  Bacillus thuringiensis

SECTION B
6. State the cause of inbreeding depression in cattle. Mention a way to
overcome 1it. 2
T Mendel did not explain the expression of incomplete dominance in plants.

Give an example of flower exhibiting incomplete dominance.

Name and state the Law of Mendel the genes which exhibit incomplete
dominance follow. 2

OR

Your teacher gave you a tall pea plant and asked you to find whether the
plant 1s homozygous tall or heterozygous tall. How will you proceed to

find the genotype of the given plant ? 2
8. Draw a schematic diagram of a transcription unit with the polarity of the

DNA strands and label coding strand, template strand and terminator. 2
9. Causative. organisms of some diseases gain entry into human body

through mosquito bites and make humans suffer from the disease.

Name one such

(1) protozoan disease along with the scientific name of the causative
organism.

(11)  helminthes disease along with the scientific name of the causative
organism. 2

10. What 1s ‘bagging’ ? State its importance in artificial hybridization of
flowering plants. 2

11. (a) Mention the difference in the level of BOD before and after the
secondary treatment of sewage water.

(b)  Write the importance of ‘flocs’ during the secondary treatment of
sewage. 2

12. Explain the action of EcoRI on DNA in rDNA technology experiment. 2
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13.

14.
15.

16.

17.
18.
19.

20.

21.

.o7/B/3 % 8

W us 1

fopelt Uetsia & Ufd A IR e Teh <hl UTdishaT shidr @ 2 39 o o™
b 1 TfaRell Icqa BT &, TRl 4 fIRau | 39 YR i iRl 1 am
fTRgu ST TSt IfdfshAT3T o ATV <hl shH hid H U&TIH & |

HHd IERIY o I T9i WET ok 9 fof@eht HY=F TshH 0 3chl HgHTHIA]
(fwepT) TetfgT |

%o faarzd grafadl (Fer) & fichcds AR, a81.T%. (IVF) i clg &I <d
3 2 ‘e ft.uw.” Ufsham H STUHTE ST Il =0T <hl AT hifoTu |

€1.TA.T. Yfdepldad o SR Uidehiaad fgema’ § g arett giiee1el bl Sared
I |

AT
Ueh GHHehwgehl ISR H YU A It [T ThR o L. TH.U, SIS ok
1 TIRaU | SgeiEs | 39eh! YHeh13A1 bl Seci@ Al HIfSTT |

$dpe BIH FI ST (TATUG fohu) FAT1d 8 2 Db BIH Yagd H Toh-Tob Hereenl
1 I TG TRE. ?

34 qoh% bl JUMH <hITIT TTEhRT I MY R T fokqd 3TN0 &g S UAH
W (S T §)-2A14aferd €1.uA.T. 9Ted i o Tl gyret @ & fohan Siran 2 |

URSIE] STq T & ? SIehl HI&T G0l Ud THEE T GOl gq Sehl SUAM
forE TR TRaT ITAT B 2 SATEAT shifold |

Tcdeh o Ueh-Ush HY=d 381 hl WAl § Sg9HIiedl Td 3Tk SiH1 RN
 Heg faug hIY |

HAAT

T T Bleed g TATdd Iehedq ol Seoi@ (JUMH) hifelt | TH.TA.
e’ 9 39 JITTIcHe &9 § Tohd TR g foha1 ? & hitaie |

U § g Aok STEiehl 3T o M fliaq | IfaRe YgH ot H 3k Tkl
! SIREAT hiloT |
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13. How does the human body respond to an allergen ? Write the type of
antibody produced by it. Name the type of drugs that can help in
reducing the symptoms of allergic reactions. 3

14. Name the three different parts of a human sperm and write their
involvement in the process of fertilisation. 3

15. Why do doctors suggest some married couples to go for ‘IVF’ ? Explain the
steps carried out in the process of ‘IVFE". 3

16. Explain the events occurring in a ‘Replicating Fork’ during replication of
DNA. 3

OR
Name the different types of RNA polymerases in a eukaryotic cell. Write
their roles in transecription. 3

17. Why are poultry farms set up ? Write the different components to be kept
in mind in poultry farm management. 3

18. Describe the technique that is very effectively used to get a large amount
of desired DNA for research and detailed investigation. 9

19. What are transgenic animals ? How are they being used for vaccine
safety and chemical safety testing ? Explain. 3

20. Differentiate between plelotropy and polygenic inheritance by taking one
example of each. 3

OR
State Oparin and Haldane hypothesis. How did S.L. Miller
experimentally prove 1t ? Explain. 3

21. Name the two primary lymphoid organs in humans. Explain their

functions 1in providing immunity. 3
-
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dus Y

22. §T9 941 H &d & | 89X ¥ H foTq &g quehl | &=l shl THMC T 3THR el
ST TET A1 | 39 g TR o H&0l o fofT &9 1973 § 99 s=1aq’ gl
1 IR TohIT TR | I8 Teh WG 3 2 Toh 3Hh had®yd [USc o ghl I

FAR <91 | STE sl Te/amfie § it 9fg B W@ R |
ﬁﬁfﬂﬁ%ﬁ'{ﬂﬁm:

(a)  @THl Sl GHME T BT o [T STLGRN Teh Y@ YT hl Ieci@ hifT |
(b)  Sia-fafagdr Teuehdiatl gl fht U s Iq@ J9E &l foiigu fordeh

SR ST <hl SEF1/gHee H gig W g Wl |
(¢) TorEt o9 & § a1y <l 9T <hl TUMET hiAT fhE JhR Yd 3l 94T & 2
3ed hITTT | 1+1+1=3

23. J.U9. UM A SIFEGT TERE W U g HU e IR T 9
S (yty) 9t AN o T 9Tt o9 (w/w) Ffrd o Iﬁ%Flﬁﬁﬁﬁ%aﬁ‘»

SATEYTcH U631 ohl AT <hIToTT qAT ST YT o I G
g A
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SECTION D

22. Tigers inhabit forests. Over the past many decades the tiger population
was on the decline in our country. A project ‘Save Tiger’ was launched in
1973 to conserve this precious species. It 1s heartening to see 1in the last
couple of decades that there has been a gradual increase in the tiger
population 1n our country.

Answer the questions :

(a) Mention one major cause responsible for the decline 1n tiger
population.

(b)  Write one main effort of the biodiversity conservationists that
must have helped in the increase in tiger population.

(c) State how 1t 1s possible to count the number of tigers in a forest
area. I+1+1=3

23. T.H. Morgan carried out a cross on Drosophila Melanogaster, involving
genes for body colour (y*/y) and genes for eye colour (w*/w). Study the
schematic representation of the cross upto F; generation and answer the
questions that follow :

Parental

Ay

- .
y W

Yellow, white

SR 2

y W y W
F, generation ™™ (O . (O
- - OB —
vt wr
Wild type Yellow, white
57/B/3 24 11 _P.T.O.

e
@
&collegedunla;
India’s largest Student Review Platform

—



(a) I8 N9 TR ol shid JERIA id &, 39! 410 TIRIT |

(b) 3G o T s GcH § JHTA! ZeIIEY (BIHIERY) il UgaH L Tilgu |
(c) <N T TR T STEfEd 39 ST bl o1 gl Sl 8 7 3

24, oty wisitsr o fofyrs YohR 6 glg ashi bl A= fQU 7T 7% | qerr 7=m 3 |

. ’dN—rN

dt

THe 99ca (N)

g4 (t) >
THH] SEIIT BT T 1d I o IAL AT
(a) A% HFlg %k ‘@’ JhR s H foilgy | 1

(b) glg a5k b’ ! ANIEEH dIsh T hal AT 8 ? FHHT Teh HRU fRT | 1
(0 diftafees o % @y fu mu ademmr O - N (2N | § R

dt K
&id sedr g ? 1
Qg &
25. HHGl, HYATRGHT a1 gierl § foit e shi fspafafer i gamn i | 5
YT
(a) HHa § dElman & A falge | 918 U fohg IohR Icq= BIdT 8 2
ST hITT, |
(b) I AAHIEAT qAT S HIRTHRT IRAT GHT & Th ot IR 3, 9]
é@-@ﬁﬁ‘g‘ﬁﬁﬁ%]qﬁi? 5
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(a) Name the kind of cross i1t represents.

(b)  Identity and write the dominant phenotype with respect to eye
colour.

(c) What are these genes located on the chromosome shown referred to
as ? 3

24. Study the graph given below showing the different types of growth curves
of different species.

A
"dN
= TN
at

A a

)]

- dN — N <K | N)

5 “ g\

-

=

=

=

@F

O

a¥

Time (t) >
Answer the questions :
(a) Name the type of growth curve ‘a’ shown in the graph. 1
(b)  State one reason why the growth curve ‘b’ 1s said to be logistic. 1
(c) What 1s ‘K’ representing in the equation (ilif =rN KI_{N given
along the logistic curve. 1
SECTION E
25. Compare the mechanism of sex determination in humans, honeybees and
birds. 5
OR

(a)  Write the symptoms of Thalassemia in humans. How 1s the disease
caused ? Explain.

(b) Thalassemia and sickle cell anemia are both blood related diseases
in humans but very different. How ? 5]

57/B/3 E4E 13 - P.T.O.
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26. (a) UI(ETdeh AIHAU T & ?

(b) T YeA/FEHl T Y B Iredl gTifedfaer Srshaul aitcas (@il

ugl) 9 (@d) W BH aret uridfeafaes Tgspau o fohm gehr e 2 2 5
3T

(a) THfId 3gEEn Al wEmar § fedt S99 wgem #  frefafed
JRE {eh-Th AT Rl IUM hiToTT :
(i) 9GSl
(i)  EEWIRST
(iii) ORI
(iv) T94i

(b)  HEWITIAT, W&V qUT GTHAIfIdT shl TRETREh-TshaT3T =l e Tl Siidi
o HLY 9T M I Teh 39S AT ki Iecig <hifolu | 5

27. Uk AIddisil & SIeMUe H THASUCHT 1 TRN Hal sl & 2 GRed Yurehiy
o1 TIehTH BIF dh 39 UfshaT kT UM <hifolU | 5

HAAT

(a) HHAG W IYRAH IChehIRERIAT qUAT TAHS 378h d ITY Hich 3
Shiteh /JHeh &4 b ohl AT b IGho T HSo-H H A T

I, |
(b) WM ITSIV] <kl AHThd = ST | 5
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26. (a) What is ecological succession ?

(b) How 1s ecological succession which starts on bare rocks/area

different from ecological succession which begins in an abandoned
farmland ? 5

OR

(a) With the help of suitable examples, describe the following

interactions in a living community :
(1) Parasitism

(11) Commensalism

(111) Predation

(1v) Competition

(b)  Mention one common characteristic that exists amongst organisms
showing commensalism, predation and parasitism types of

interactions. 5

27. Where does megasporogenesis begin in an ovule of an anglosperm ?

Describe the process up to the development of a mature embryo sac. 5

OR

(a)  Daifferentiate between spermatogenesis and oogenesis in humans
starting from primary spermatocyte and primary oocyte up to the

respective gamete formation.

(b)  Draw a labelled diagram of a human ovum. 5
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